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SECTION-A
I[ 1w Puosiihive Illll.‘gl.'rh- it ﬂﬂld h. are “'"":]'l A5 0 ° :ll'l'!'!' Und h ﬁ-::'rll'. “j";”_-
x oand Voare poome nuimbers, then find the H['|'- ul goand b

Find the value of 'k' so that the lollowing s¥Stem of equation has inhinite
sulutions

N v =30 By - k=10

Find the zeroes of the quadratic polynomial {'1:3 —Rx+ 43

Dbserve the figure and find the height of the lamp post
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The length of the diagonals of a rhombus ure 30 ¢m & 40 ¢cm. Find the side of
the rhombus

Find the penimeter of the (riangle lormed by the points A (o, 0), 1B (U, b) and
)0, )

SECTION- I

Find HCF and LOCM of 2700 403 and 315 using Fundamental heorem ol
Arithmetie
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MRS A (g B (S, 2y and C (9, §) are collinear

Using Fyqlg. SECTION-C |
qi‘*ﬂa,m |5 : Disian yleonthm, tind the largest number that divides 1251,
p S
2R |l:""'«'ll‘lg_ remamders 1. 2 and 3 respectively,
Hhuu it l —3
3 nd 5 Are the zetoes of the polynomial At o+ dx - 3 and venly

the relanc 5
onsh . -
P between ,oroes and cocthicients ol polynomial

UHII!L"‘\'—‘?_:WI-H 2 5 L
algorithm : o2y v - v = 1 and check your answer using division
Solve th
L € loll _
HRINE system of cquations for x and v

& J
= —i__ = . 4] i
v—| L= B |

sSum vl 1.“1': dlgith ol t“.li-‘l.;._”' nuither i 17

) Ihe numbe 10
]I'IIEI'L']'.IH!.'_‘IHE, the wa d"L'.“E eaceeds he wimher U’l"‘lul.l.l!l.,d h}.

siven number by 18 Find the number

2em find B0 - ¢
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Pl inenne of e feliowing dutribitieg b
Ui e losses 200« 30 qanl ol = 8L aee s ding

vy Triervind

e
Fraguency

e

b= 260 eI
_ 2Li-eh __.__|4______
di1-hitl ‘__.__._'if____._.——
fl - M1 ___.__l_.'_____.—r
B 1 149
-
Tatul 120
| I
Fbind thie s ol e Ballos g, dibin
Cluxs fndorvad Freguene)
n-110 5
- I
14k-210 I
I 7
e 1 I——
I0-411 E
L —
AN-51) 14
S04 o1}
-7 13
To-80 T

[EA (4, - O, B3, -

fuct that a median of a triangle ABC

. . |
I the figure. AD L BC and B = "

Prove that 3 is an rrationil fiml

pumhbet

3 g € (3. 2) are the vertices of AAPRLC,

A

o L

SECTION - 1Y

Srute and prove Pythugoras (e

Obtan all the zeroes of 9 -7

| |‘:|.| |

3

divides i mto two triangles

U0 Prove that 20A°

e s S But gl Trequencies 11 and

Hoed e gyies
Al Wilssing frequencies
_,_I—'_'_

then venly the
ol equal orens,

IADE + HCE

ser. Henee, show that §_ 23 15 an irrational

x = 175! =17 x + 6,00 vwo ol s zeroes are 3
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Efiphs of i

1'S Diigjegon Algorithm, stiow 1
™ Y%m, gy« | vetm? ¥
' 4 =0 Also, find
the areq e cgualions & < 1, %= 3 and 2x - ¥

- I i - Eor Bk
28 " the Yuagyjarerot formied by (hese 3 lines and the €-aX
28 -
I the third side ol & riangle bre Fespe crively \

¥
[ AL -||{-':;-_| :“_Id
he median of another yriangle, then

r-'r' It 4 median hasecling
e FATTEO . &
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Priovve that 1h: .
B3t the two triangles are similar

(3}

egm in 10 hrs, 11 goes 40 kim

% baas
E—Ptt'll al the bost 11 slill

and 44 km downstr

—UCis 3 km upstream
[ 3 hiurs Find the

UpLiteam -
Piiream and 33 hm downstrearn i1

¥

vater and also the "T:-L'L.J of the Lir=arm

391 Duning the medical check - up ol 35 sindents nf a class. their weighls Were

rded as follows

Weight (in kg Number of stuideis

le=s than 38

less than )
lesz than 22 .
]

| lesy than 44
| |ess than 46
-

' less than 58
s

less than 30
| I _

less than 32 15 ]

I} , 1=55 than ogive lor the gIveD data. [Tznce obtair the median weight from
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